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Mark your answers on the separate answer sheet.

Read the following passage and choose the best answer.

Agriculture is a very important sector in every country’'s economy; no state will take their concern off
the tremendous help agriculture does to each of them!

Admiringly, in the U.S. alone, crops, seafood, and livestock have a contribution to the sum of more

than $ 250 billion in strengthening the economy each year. Further, a combination of food-service and
agriculture-related companies have made a tremendous impact, and they've improved the gross domestic
product (GDP), raising it to the peak of more than $ 700 billion. With these brief statistics, who would
argue the fact that agriculture needs keen attention by the government? Definitely no sane person would

do!

Naturally, agriculture is excellent under moderate climate change. It is experimented and validated that
when there is sufficient presence of carbon dioxide in the atmosphere, plants and crops germinate*
( ) and grow well. But if the reverse is the case, that is, when floods, droughts and intense climate
change occurs, it will lead to a reduction in yield, low-quality product and sadly limiting the availability

of foods for consumption.

Notes : germinate start to grow

1 Which of the following is closest in meaning to the underlined phrase “have a contribution to”?

@ run short of (2 try to encourage (3 stand up for @ play a part in

2 Which of the following is correct about the passage?
Agriculture and climate change are closely related.
Agriculture is not so important in some countries.

Climate change cannot be stopped, so we had better give up raising crops.

® ® ©® 6

There is no problem besides climate change in every country’s economy.

3 Which of the following is the most suitable word for ( ) ?
@ fast @ slow @ bad @ good



4  Which of the following is closest in meaning to the underlined sentence “Definitely no sane person

would do!”?

D Everybody discusses the point.
Nobody disagrees with the idea.
All the people need attention.

®» © ©

Some of them are aware of it.

5 Which of the following is the most appropriate title for the passage?
Agriculture and Climate Change
American Government Policies on Agriculture

How to Prevent Droughts and Floods

®» ©® ©® 6

Carbon Dioxide in the Atmosphere

Il Identify the underlined expression that must be changed in order to make the sentence grammatical.

6 The investigators studied and analyzed the accident on every conceivable angle.

@ @ ® )

7 Her modesty would not allow her to make her feel known to me.

@ ©) ® @

8 Take your time. We have plenty of times to shop.

@ @ ® @

9 I can’t tell you the whole story, but to the brief, my wife isn’'t coming this Christmas.

@ @ ® @

10 Can I try on this shoes just to see if they fit me or not?

o © ® @

11 The restaurant is about twenty minutes from here by foot. How about taking a taxi?

@ @ ® @

12 Once you have been got your ideas, you have to find the best way of presenting them.

@ @ ® @

13 Since you fond science fiction, I am sure you will find this book interesting.

@ @ ® )

14 My uncle congratulated me about the completion of my trial period in the company.

@ @ ® @




15 Admitted what you say, the fact remains that there were important economic problems

) @ ®

between the two countries.

@

Il Choose the word or phrase that best keeps the original meaning of the sentence if it is used in place of

the underlined expression.

16 She wondered how long Jane could sustain this conversation.

@ enjoy (2 maintain @ leave @ understand

17 He had to accept that there were still prejudices against women.

D judgements 2 kindnesses (3 prospects @ discriminations

18 The plant is in full operation.
@O blooming 2 surgery (3 behavior @ performance

19 We are against working on Sundays.

@ close to @ in case of (3 opposing to @ in favor of

20 The movie star is well-known both at home and abroad.

D overseas @ family 3 office @ inside




RO RRERKY TE< - EERKE

LR E R

- KOMWIRRW RQOE S UKimy$x5°

RORRAEOMKQ” UVURELSCRINY m—oaUN
SBORTRICOEHN O 42° LINV)UBH LAWY NRIK
BRER (A0 ( L DVE U0\ RO T84
Uigo) () VRO Lo HOGRL S _ROVIER S
A S E RS O 44000 U048 A D WVHIRQ BRavE
Sm—a A TXYIE [EXE] VeRVEEULDKENIS | B
4% Q420

B KEEKER VoL SERE & ORI
B D QHTERAS A L ERERNU R0 N ) D RXZ U0

WREEUM—O AL PWRRRRATRIVAAR sVRWIRQ Q@
¥ O BFEHIRIE Y VA0S ST S 0K S QO an [HE
B REO WL L KRIE-2IoRENIBOW 5 23 5o’

B XIQ [ ] ROEHER VORIV ILQNS

VEEDBERSNIS(CERBRELS [~ 11000
HERECHE N & M—AOACEIENROS U 1)

SHMURLY S8R ONRE (VROIBEROL ey
MEBEKE-DHECOR A M SN IE o 00 TS IRIE 1 48 50°
L BB RSP QWM O S0 HNIQ [ |
IR O\ S s o R
WOPVOKKIEY | RLOEL [INREX | BECES=T
P E LI 5B O V&7 RENIwE S
RN SAOFHRR | B O e
Py RO U O UASIITEK ¢ QKE QWi
Y~ [MRBXTI] VSO LDREMK SHIEE S N N 'y a5
LRI 0° SN [REM | BEDBEH U E O L°
Iiﬁﬁﬁ&%i BUR Y 9 Q L8048 5 R
DRE LAURERR U2V ENLD O D807
RAVEE A QUKL DO U EI Y S00° v N &=k B £ (]
Bt QEERLEEEE U 1< 0 a0 5o | @ |
SEEUDUBS5° BRIEGKL—~" HEx—m ARV

TREEVEDBRNCE Y CKERRZOK S RERA 9%

= _AZH

F< QEIRGQEN VR 0T8 2 4 & JENT - iR ) 2 (U SRVl
¥ 5 R 50
P I WTHE -« HITERAT Q B0 <15 AU O R UE 0 AR

CRPY: JEXCNEV P& [ ] SERRND Y Bt
NP RV TS QIR LR R RO R Y
LIPS O LURILOKAX v UBRH<VRERY
PR KE<WELQEYN S O WEEP O XV 5
FERL°
NROSRVE RRCNEBEEREGEHSEICOK S VER

R VR R G IXID A0 QIR mIIESEEGI M AR S
BEOL-HP0N WOVRKRERMOCELBOR O [ 5
WRIRAS S V" [HIR] & [HHE] BEVE [A X
AT SREREREN R ) RBEESRO LR E0R N
AR LR O QRS
ERILERSoTHEQQ UM I O LUB L& OO
SERMNIHKE" £ CHERHRS BEOVRK ( SHmEY
ROV 5 QI HES DY 5 re°

(RIE#H [BEXSUENS—RE2 N QREXE | o)

B | RERZO-OORARAWHL I INLSQVIVEILHQ
W K= ROV R | 04 OBID S0 S °

— # o

@ NIRS » B v N

I

@ RamM= » R <t

4%

-~ &' ~ ®

© £ v i

® #EN

@
‘|
v/
3
—_— —_— —_—
3 1
#H oan
4 2
WO
~——  — ~ — ~  — ~

mI| HE] — || B |u<em-myisiEEy K6~

Q0RO R | O QB S0 5 °

— o4 LU e DR v S0

i BEENRERKE| CEHYES ——w~o | QBDS ST
—  BomarbR ~ UK o HIEREK
< GELEHR o ol




EE HREEV [REVIERONI( CERBREE | VAR’
WRBAS Lo )AUR WRRRVDWVIR-OENS-0 Q% K~
—10 Q0RO | QB S T

— R

DN SHEH VA EHE A"

MR LR S VW EERREHBROSER VOV E

R SHmU QL S 484 0

JE ( QER-DGQAI &AM O Wil o) A°

N EHEED AD-—L22UEL SXNEOHEESVONIY
EEBUSERGHIPRY% LSS NNNQEY mERK
oL R O MK 8O SR W WAl AU S ) A°

o HErs HECA D L 22K RUMNLERV OV LR

CHILELERE | &7

BRSO Q@R E A4S 0 WAl S o)A

VR CHSEIMUE O S LINIE

<+ HEPVBHEERUARE Y VLV OXICHAVEE WO
M ERREN VRS SXMISH R 5 URIQLIDo
BRRRAENA St 4 O Wit Do) A°

0 HEPE RENEOHEISCEEXIME L BV Axo
RIEINUNI (¢ QERTELIEVSS” mENICHEU NS
SRONRIGELNR I e r)A°

I RERED [REOIK] VR QK OV IR-PE -0

O KS——1Qma0R0 | QIS L°

—~ QRWPRY | O QEUR TN

N SRR DAL e Q4 5 1) A°

o MRCERIEWRO SV EWE R EENN A1) °

<+ RASR NN QORI IED 1) AW T 1) A

0 < QHBIRY-D U RERQ A LEEAVIS ) °

B HE[ @ U mi-omaeERy Ke——wdn
30RO | OBIO S 5°
— DR —R iy R

N NN — » RNINF R

<+ RNARR—Y o HXNRND

EP Ke——wlU) I XSRHULe-»QUBOW el

1%

SL0QUB X W KIS 5 °
Qs &

— REX#E KOO EYT DR<ORKARE
D IVEESQ F0a 4 @ BERXI 480 S o301

N
DL 5se®

N ROVOHEDSEXRMNIMRES" SHOFRHE" VoL
PMEHEUL S S B0y 5 1 AUWE O LRKR 40 (Wi
QEE O IV 5 00450 Q [ 4810°

o MR URQTBNXIEED k{iry
LRI VHESENICHE R IXKEKEKENI N
K¢ HLVHKURE O S 00

<+ SOONIERHEOL,VYE HECH YR mEQHNY
HFEWEEL D BEQ MW BRI 0 ) 1494 S B

SHEHMNIUB OIS

Qa3 0 fv 5 5Q°
0o MEQMIEBEMEUSOWRs” NERNQKRSHORERY
FEXOGRSs” FEEY M —0 DL XIG8s” LiErdky)

TR DRI RAE°

S UHIRSW LS

b
2
L

KOMwiER " &

HNOER RHQEL RS 5000 EER O (U0
REL HRBUKR BH# RIRE U HEQ I
BVEHKRIQEINGROE NEOW 5500 SR R 0° &0

SO QERFI-D D D81 ) 1) RO EN L 1)1)  IRG°

PRy

&
Jis
ViR

t

it

{

K

\j—

AN RREY VB RINA BRSNS QEIY” RV
S NE SR OV QAN VA U R
EBOVEHORIRUM D IR WEOURDEWE S 410° K

MOTREET KOHECOKIESR

SR
NESVBSE OV S U0 RERGS )AL HPEE R RHE D
TSR RN T8 5 4% 50 ORI O {44620 O AUsua) 1)
% S &7 YU I SWRIND S48 5 e UIRAQ T

Lol QEMVEK O v S50 1) AU U BEIHRSN HU MmN
BN 3ORT L DV KD AT B

WHURO SRWES” ELILKWEL BRUIREWZOWVE
PGS0 BOIERAOET O ONREE

SHRESWOV HW O SINEWE R IVE D7 DRVEH W

ROWVIEO W E0° VR RiFrE

WA 1) L4807 S O Em RSN

c;‘

\@@%@EL//JZ%O

DI T 1) 1) LI
DY 580 ) AU 0

D& EHEG VRS N ORCRRUY RmE
EOFWRE O I LREBLOL | QUOVEEH OV S8 5
SRR A800° R Q) LB Q1Y S WURE ¢ WERVE
RESHOVEVEUS0DT BRE D QEWRLE O VL eRE
BRLAUDHDUEOINLL2Q 0 O HoRED 0 fokR

FQ OV 500 WOVRECERKBLoEWIEELIY 50° Upi



#b%f%%u%
FUIVORW S

A QA R 5 Y

5
D
)
)
%

< s
s
D
&

'S
O LN BORKWENEMSVRESEE iR S\ S
SO QEEEE A0 L aUa” IIOsl $35 U0
Q0% Q044D R OEE 0

= t
Y ELKRRRORFUES EXKRRERORENRUHIHW
pa S

D07 N RBREVRNRT DR DY MKEYRKEZER
Ao QKT IR BB B S HEXRBE VIR S RN 2
TR QIR HEIX D O R0 N BEAK & HHEL L B
NN R ROBRHEV I OLL 08 WWHEHEUR
OV 500 A L4500 HE T BB R RO W U R
B EHCIER RPN DU 0 QREKAS S 48507

HNEMANRS DR OEHERGHEB WAL RN QK
PRROLSTENVIHWAVIOH LS 5° &is0” VSIS R

BP0 0 RYEF T4 5° 1) QERMGVERRIGSHE L Qs D N

B ASEREAY A SRR VHEERONLO T LA N N —
NP —ULeLREUES” YWRASWRLSE | 21110
LRI CHVL O L° QsS40 4 0 I gD S HERY
QBN D D R 0540 O 2D HHER S Ui Do
BEROLUINDQ QIHEW+HRE NEW AL Q0458 5°

1) IO A0 R QIVE QWIS RO S0 Q°

(F8)

AR A N AR N A S S A S S A A S A I S A S S G g
BB HE 0 S0 R URBAE S E U QD QS04 5°
SRR IUNT A —IKT NR— OWITRE S | REE

B A= NI P —QRRNEDWVHEEULLN A A=K
R—Q [#EVBER] b7 &8 RUROILHOL PO
NRERKUEOSGEYOH N0V — (BEw) BELXOHEUIRD
7 IR 00 1) A R R Q HEER (48 80 1) AN ITEE ) {U°

D& DD Q HEK AW R~ 0 HEET Q X R 1| K g 4W[ %A ) A T3

LA O L°
HA -0 —EL QHEBEON & v HE iR o R R Y
L& HERMBEINLREN RO WORBEED
RRBEIRT &N T ANEBERODRERR DRD™ 97
R\ BERAERRRWANIVERESOVREDT QM
SSTEE NV RIEE R E 0T R R VR Y
T OERBUNVQEELT HK 0 H N L IV — WO

jug
S
U 000 L 4sQ°

&
n

O A=V —HLKOHRUBCE | QRED” MK
4 QEBELHVEWES 0 ) U BT 5000V QHFE I
EWERSTUENV USRS OmoBRvg” #HRS
RRUIKBURHP O H N 0N — Wi H 0 EWE O W 5

N A )AL ASrQ QAL°

EBONEY AMH =N ) —QREONHESHESEM
(dynamic state) ~J 5/ G000 LI MW BEEERY S0
MIER IR < DL 5° H) QMK U RILP0HEETD" dynamic
equilibrium (&xhm DA - RTINS RNN) LaEe° BR
U O RQEIIRE ) D) LR Q i BRRE
SEREA O W) LS OEBHE & 4907 ®IE U )i
540 QAT S QA0SR 5/ 48100

MR 02 S VIRV LHEDS M —N I P~
QM UER DR s 1) A L O WK Q e LR YU R 80 1)
RVAERGINCE

HEVBEBEHEUIAQE S VE°
(EEE | [EEE|" ZERRWIES] <o)

| HRERO-OORARAWERG D OIONAQVIVEHIL SR

3 Q10 Qos0& OV RR | M QBB S0

ol
CEEDY S R -
o R
~ ® o K
@ #@an w B < I
o B
— # o~ =
@ g w & v @
o ¥
~ I o~
@ ¥ o v B
o 4

Bl SREEN [EESEAVENOVSER] VSR REELRDY
S OVEORLNEBEWIALLOREVS OV ISR X6
—— 10 Q0402 OIR-PEST -0 Q4 | O BHOS3 5 °
—~ HEVOSQ0QHSRWIED #HEVTRLALE ST VRS
ERER (4950 S ) A°

N HEQEIT SIS RS RPN O SV S
N0 —EKQHERS A

o HEVL»Q QHSRWILD” HEUBEYNKIKS SBLH
AR ES OB R S0 LA S0 ) A°

= HEVIRV S HESHR{ WK HEVBIKS TR
FUAVEK QoD Q 4880 511 A°

10 HECHSRWIKEUASVE L RE RS HaRVIRD” #HeE

THREAOR 59 A8 S ) A°

| REEY DUR] VERERT VOERA RN E QIR

ARE O RISy 5 °



7 B
o B

BREED WO HEWHEBRA QHEFLEO X RII'NK ] A48
i

CWRHAS LA VRVREONKONOUE[ ~ |-
[ 5 ]u #XEso SR S8 R AR O S 5E
RO W30 5 °

ViR

B WEIF VR HES KIS0 R”™ H ANy —EKQH
ERHEVERPORRUSPE LKW N HN~TN —E

KOHRURCE | ORAB” BEROEXRXRKWRESOWVERE

dr@ 1) A1 48100° QAR SRR g 0 TI%ﬁ\o:k

REPMVKRTES L BER{/|ESHPREV D V) LEHRR

[ = ]ovRvermimpese

EH #XEQTIEERER [#HESH] v RR] VI EEWE
VRS R CENESS S0 (KU WRIEEO W S Q)

R

&

KO 5 UKiR$x 5°

B PIBRRESRY L R OHSXSHEL BoENWRRE
WSV R | XL R RS0 50
N ORBIRS R (

N EAESEDSS (

) DREURS S
DR BEHIN () Be°

H A%—9BEIPeUQURmE () &o0R°

| XOEEXWIERY K08 ~— w0/ s0c 0D 5 -0 Qv

Bl (] QUBEOMT)

Ke<
R BL7
BREIAY SEER O L

Hop | BMEUSNLD RN KBRS QO Dy 5 R IKNE

CHRUENRUI) VRS R o
X

KRLTHRURWSLVRE SR Qi

¥e<
RUIMR R642° QI N A Ry — W K07 X
IR URWSHNLONA 2% —RIQWE ) RP O848 5
VAP DO UM O P ERGRPIRS 50050
RS<

{—" ELRRXIUL BULS L oL RwEDS VB

DA 5 30

— <BLRCEEY QL WIE LW WY 50°
N <L KUY LR URNUR AR

o RO N R — N 490°

<+ HKO<B {HRURWKIEEUNAS 4 —UAWE ) D42°

1o KO LR URNRNS S iU AR S X 48 800

|

KOMXWHHEUXR O L2V ARS2OWERO ] O

BH &y 5°

—

N

o

FEONMSAUNEH RS\ KW NBO\2Q i’
FECMKRANIRBKWNBeo» S U 4°

NN R N AN RO KSR A N\ P °
FESMRNANEE RSN N2 S\ P An°



PR RKERKYE THE< - EENXEEE RS

F @ & i & v do <G

m & s %

i
@
@
®
@
®

I
I
I

i

1] Bl H i<
i i ey e
b
ﬁ -~ N (9] < w0
WNET
|
o+ © ® ® ® i
m= m=
1|
i
R
2- -
&
e
|NEE
EHIN - N H

i
i




